
Nombre: Clave De RespuestasUsando el órden de las operaciones

Matemáticas www.CommonCoreSheets.es
1-10 90 80 70 60 50 40 30 20 10 0

Respuestas

1. 144

2. 224

3. 420

4. 40

5. 23

6. 36

7. 98

8. 56

9. 27

10. 21

Resolver cada problema.

1) 1 0 ( 2 1 ÷ 3 + 7 ) + 4

1 0 × ( 7 + 7 ) + 4

1 0 × ( 1 4 ) + 4

1 4 0 + 4

1 4 4

2) 8 ( 2 7 ÷ 3 + 5 ) × 2

8 × ( 9 + 5 ) × 2

8 × ( 1 4 ) × 2

1 1 2 × 2

2 2 4

3) 7 × 5 ( 2 1 ÷ 7 + 1 4 - 5 )

7 × 5 × ( 3 + 1 4 - 5 )

7 × 5 × ( 1 7 - 5 )

7 × 5 × ( 1 2 )

3 5 × 1 2

4 2 0

4) ( 7 + 1 0 - 7 ) + 2 7 ÷ 9 × 1 0

( 1 7 - 7 ) + 2 7 ÷ 9 × 1 0

( 1 0 ) + 2 7 ÷ 9 × 1 0

1 0 + 3 × 1 0

1 0 + 3 0
4 0

5) ( 5 × 2 ) + 4 0 ÷ 1 0 + 2 7 ÷ 3

( 1 0 ) + 4 0 ÷ 1 0 + 2 7 ÷ 3

1 0 + 4 + 2 7 ÷ 3

1 0 + 4 + 9
1 4 + 9

2 3

6) 6 + 1 8 ÷ 3 ( 3 + 9 - 7 )

6 + 1 8 ÷ 3 × ( 1 2 - 7 )

6 + 1 8 ÷ 3 × ( 5 )

6 + 6 × 5

6 + 3 0
3 6

7) 5 ( 1 4 - 6 + 7 0 ÷ 7 ) + 8

5 × ( 1 4 - 6 + 1 0 ) + 8

5 × ( 8 + 1 0 ) + 8

5 × ( 1 8 ) + 8

9 0 + 8

9 8

8) ( 5 × 1 0 ) + 3 + 1 1 - 8

( 5 0 ) + 3 + 1 1 - 8

5 3 + 1 1 - 8

6 4 - 8

5 6

9) ( 8 + 6 ) + 8 0 ÷ 8 + 9 ÷ 3

( 1 4 ) + 8 0 ÷ 8 + 9 ÷ 3

1 4 + 1 0 + 9 ÷ 3

1 4 + 1 0 + 3
2 4 + 3

2 7

10) ( 3 × 2 ) × 3 + 1 0 - 7

( 6 ) × 3 + 1 0 - 7

1 8 + 1 0 - 7

2 8 - 7

2 1



Nombre: Clave De RespuestasUsando el órden de las operaciones

Matemáticas www.CommonCoreSheets.es

Respuestas

1. 144

2. 224

3. 420

4. 40

5. 23

6. 36

7. 98

8. 56

9. 27

10. 21

Resolver cada problema.

1) 1 0 ( 2 1 ÷ 3 + 7 ) + 4

1 0 × ( 7 + 7 ) + 4

1 0 × ( 1 4 ) + 4

1 4 0 + 4

1 4 4

2) 8 ( 2 7 ÷ 3 + 5 ) × 2

8 × ( 9 + 5 ) × 2

8 × ( 1 4 ) × 2

1 1 2 × 2

2 2 4

3) 7 × 5 ( 2 1 ÷ 7 + 1 4 - 5 )

7 × 5 × ( 3 + 1 4 - 5 )

7 × 5 × ( 1 7 - 5 )

7 × 5 × ( 1 2 )

3 5 × 1 2

4 2 0

4) ( 7 + 1 0 - 7 ) + 2 7 ÷ 9 × 1 0

( 1 7 - 7 ) + 2 7 ÷ 9 × 1 0

( 1 0 ) + 2 7 ÷ 9 × 1 0

1 0 + 3 × 1 0

1 0 + 3 0
4 0

5) ( 5 × 2 ) + 4 0 ÷ 1 0 + 2 7 ÷ 3

( 1 0 ) + 4 0 ÷ 1 0 + 2 7 ÷ 3

1 0 + 4 + 2 7 ÷ 3

1 0 + 4 + 9
1 4 + 9

2 3

6) 6 + 1 8 ÷ 3 ( 3 + 9 - 7 )

6 + 1 8 ÷ 3 × ( 1 2 - 7 )

6 + 1 8 ÷ 3 × ( 5 )

6 + 6 × 5

6 + 3 0
3 6

7) 5 ( 1 4 - 6 + 7 0 ÷ 7 ) + 8

5 × ( 1 4 - 6 + 1 0 ) + 8

5 × ( 8 + 1 0 ) + 8

5 × ( 1 8 ) + 8

9 0 + 8

9 8

8) ( 5 × 1 0 ) + 3 + 1 1 - 8

( 5 0 ) + 3 + 1 1 - 8

5 3 + 1 1 - 8

6 4 - 8

5 6

9) ( 8 + 6 ) + 8 0 ÷ 8 + 9 ÷ 3

( 1 4 ) + 8 0 ÷ 8 + 9 ÷ 3

1 4 + 1 0 + 9 ÷ 3

1 4 + 1 0 + 3
2 4 + 3

2 7

10) ( 3 × 2 ) × 3 + 1 0 - 7

( 6 ) × 3 + 1 0 - 7

1 8 + 1 0 - 7

2 8 - 7

2 1

1-10 90 80 70 60 50 40 30 20 10 0



Nombre: Clave De RespuestasUsando el órden de las operaciones
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Modificado

Resolver cada problema.

144 420 23 224

36 40 56 98

1) 1 0 ( 2 1 ÷ 3 + 7 ) + 4

1 0 × ( 7 + 7 ) + 4

1 0 × ( 1 4 ) + 4

1 4 0 + 4

1 4 4

2) 8 ( 2 7 ÷ 3 + 5 ) × 2

8 × ( 9 + 5 ) × 2

8 × ( 1 4 ) × 2

1 1 2 × 2

2 2 4

3) 7 × 5 ( 2 1 ÷ 7 + 1 4 - 5 )

7 × 5 × ( 3 + 1 4 - 5 )

7 × 5 × ( 1 7 - 5 )

7 × 5 × ( 1 2 )

3 5 × 1 2

4 2 0

4) ( 7 + 1 0 - 7 ) + 2 7 ÷ 9 × 1 0

( 1 7 - 7 ) + 2 7 ÷ 9 × 1 0

( 1 0 ) + 2 7 ÷ 9 × 1 0

1 0 + 3 × 1 0

1 0 + 3 0
4 0

5) ( 5 × 2 ) + 4 0 ÷ 1 0 + 2 7 ÷ 3

( 1 0 ) + 4 0 ÷ 1 0 + 2 7 ÷ 3

1 0 + 4 + 2 7 ÷ 3

1 0 + 4 + 9
1 4 + 9

2 3

6) 6 + 1 8 ÷ 3 ( 3 + 9 - 7 )

6 + 1 8 ÷ 3 × ( 1 2 - 7 )

6 + 1 8 ÷ 3 × ( 5 )

6 + 6 × 5

6 + 3 0
3 6

7) 5 ( 1 4 - 6 + 7 0 ÷ 7 ) + 8

5 × ( 1 4 - 6 + 1 0 ) + 8

5 × ( 8 + 1 0 ) + 8

5 × ( 1 8 ) + 8

9 0 + 8

9 8

8) ( 5 × 1 0 ) + 3 + 1 1 - 8

( 5 0 ) + 3 + 1 1 - 8

5 3 + 1 1 - 8

6 4 - 8

5 6

Respuestas

1. 144

2. 224

3. 420

4. 40

5. 23

6. 36

7. 98

8. 56

1-8 88 75 63 50 38 25 13 0
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